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This paper consists of 50 objective type questions. Each question
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At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(@ii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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Sheet given inside the Booklet only. If you mark at any place
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If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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POLITICAL SCIENCE

Paper II

TSHIMEH
goatent 11

Time Allowed : 75 Minutes]
Note : This paper contains Fifty (50) multiple choice questions. Each question
carries Two (2) marks. Attempt All questions.

AT ¢ A1 YA THY U= (50) SgYAtd U9 STed. e UIAEl | (2) T ST

wd Yy dred.

[Maximum Marks : 100

1. Match List I with List IT and select
the correct answer by using the codes
given below the list :

(@)
®)
(c)
d)

(1)

(2)

(3)

(4)

List I
Philosophical Approach
Legal Approach
Historical Approach
Institutional and Structural
Approach

List II
Study legally prescribed
structure
Find out and enunciate the
principles or ideals underlying
administrative activities
Organise and interpret the
information in a chronological
order
Describe the organisation and
functions of public organisations

Codes :

@ b)) @© @

Aa 3 @ @O @
B) 3 @1 @ @
© O @ @ @
D @2 @1 B @

SN LN ) ~
aett oo Heha-Jei=a e
qel 19 Il I I Siedl de

(a)
(b)
(c)
(d)

(1)
(2)

(3)

4)

RICi |
TIICHS  gIoeah !
fafeenst gftesmd
Ufqeiiess giteshA
TLHE d HLEAHS gfeeh
It 11
fafufafed w=m=n 1w
ENISCIRRERREC RIIG RC R GRe|
steert=n Wy 9 fAeR
Tfece ShTIehH el T fo=r
ST ey
HeSIeh HereAr Fal 9 i T
0

FEA-T

(@ b)) (© @

@a 3 @ @O @
B 3 1 2 @
© QO @ @ @
M @2 @1 B @
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The Structural Theory of
organisation manifests four
features. Which one of the following
is incorrect ?

(A) Impersonality
(B) Flexibility
(C) Hierarchy
(D) Efficiency

Consider the following statement
about classical theory of organisation
and choose the correct code :

(z) It treats organisation as a
closed system

(1z) It views the organisation as a
machine model

(i11) Humanistic attitude towards
the employee

(v) Formal relationship is
important

Codes :

(A) (2) and (z7) are correct, (iii) and
(tv) are incorrect

(B) (i) and (iiz) are correct, (i1) and
(tv) are incorrect

(C) (), (1) and (iv) are correct, (iiz)
incorrect

D) (), (1), (ziz) and (tv) are
correct
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HEed= GEAER! A @R
AfeTeey = BT, I BT FHEA
L L

(A) SAfRIRTETT

(B) wrafashyon

(C) TgETH

(D) hrere

Hehagardl AR e Hoet=1 e

fagiarfemE=n = faum <sfan

(i) T GEST U S SHeke o7 3/
A

(i1) T HES Tk I3 STHAT Yy Higdl

Gii) Qg auifas=i=r Araaqraret

Hiccae
(iv) T=Ie e "o
Heha-get :
(A) (@) (ii) SR &, (7ii) o (iv) Ih
3R

(B) () 30T (ji7) SRR 3=, (i7) & (iv)
I 3TRq

(C) (@), (i) T (fv) SR e, (iii) =

Sl
D) @), (D), (i) T (jv) S 3ed




Select the correct problem of
recruitment from the following

codes :

(1) Location of the recruitment

authority

(i1) Recruitment from within Vs

recruitment from without

(z1iz) Qualification

(v) Language

Codes :

(A) (@) and (i7) are incorrect, (i17) and

(fv) are correct

(B) (), (zz) and (izz) are correct, (iv)

1s incorrect

(C) (i1) and (z11) are correct, (1) and

(zv) is incorrect

D) (@), (i), (ii) and (iv) are

incorrect
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A SN LN a NN
Wl Iqgeiedl Hend {H@ =4l Hel=~lq HqAl-

Wl faszes arg wwe Hae

() Yarudt faszes Wit w@mE

(i) oTaTa faeeg dfetia JameRadt

(z22) 9U=ACl

(fv) T

T

(A) ()9 (i) I 3T, (iii) 9 (iv) S
3eq

(B) (@), (ii) T (iii) IV 3R, (iv) T

Sl

(C) (i) T (jii) SRR A, (1) T (iv) T
e

D) @), (i), (i) F (fv) Ik TR
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Who said, “Bureaucracy poses a
threat to democracy and to

individual freedom” ?
(A) Max Weber

(B) Martin Albrow
(C) Talcott Parsons
(D) Paul H. Appleby

According to Barnard C.LL what are
the qualities of leadership ?

(z) Vitality and Endurance
(i1) Decisiveness
(i11) Persuasiveness

(v) Responsibility and Intellectual
Capacity
Codes :

(A) (@), (zx) and (iiz) are correct, (iv)

is incorrect

(B) (i), (ii), (iii) and (iv) are

incorrect

(C) (1) 1s correct, (i1), (i17) and (fv) are

incorrect

(D) (i), (ii), (iii) and (iv) are

correct
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TR CAIheMel & TR
AT iRl Gl

(A) HeH 9T

(B) HRA sfesi

(C) T[AHIE I

(D) dfd T=. 3fgcsl

S .U I T gl R0 ?

fal

() Sm g fa=el

(1) TAoTereRar

(iii) T A FTBfauare &IHal

(jv) SRR o =i Jradl

FA-T

(A) (@), (i) T (iii) S 3R, (iv) T

Sl
B) @), Gi), (i) T (v) Ih A

(C) () TR T, (i1), (i) T (fv) IH
e

D) @), (@), (i) T (jv) L 3R




Select the correct statement about
public choice theory by using the

codes given below :

(z) Public Choice Theory is critical
of hierarchy and large

bureaucratic organisation.

(i1) It calls for small organisation

with overlapping jurisdiction.

(zi1) It claims to uphold democratic

administration.
(tv) It behaves in privatisation.

Codes :

(A) (@), (1) are correct, (ii1), (iv) are

incorrect
(B) @), (1), (ii1), (iv) are correct

(C) () 1s correct, (i), (ziz) and (iv) are

incorrect

(D) ), (i1), (z11) are incorrect, (iv) is

correct
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Tt feTedl FehagaiTaR desieh fere

fagratfaseii=t 4@ faum faer .

() @ faga edum 9 faeme Al
GereAifaw getamcs i
R

(ii) =] SAfYeRed  STHu=A

STCUYHYT HeAT= A JLEhR il

(Gif) @ TAHIMET GIMEATST  TATHIT

Hl.

(fv) =T WTEMHOTE qIiden 3T

Heha-gel :

(A) (@), (ii) SR 3, (iii), (iv) Ih
AR

B) @), (i), (i), (iv) T 3Ted

(C) (i) SR 31, (i1), (iii) & (iv) I
e

D) @), (i), (iii) I 3R, (iv) S
e
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Who defined training as the process
of developing skills, habits,
knowledge and attitude in
employees for the purpose of
increasing the effectiveness of
employee in the present government
position as well as preparing
employee for future government
position ?

(A) Felin A. Nigro
(B) William G. Torpy
(C) Milton M. Mandel
(D) Bernard Baruch

Select the correct attributes of good
governance by using the codes
given below :

(z) Transparency
(1) Accountability
(i) Efficiency

(v) Autonomy
Codes :

(A) (@), (zz) and (zi1) are correct and
(iv) is incorrect

(B) (i) and (i) are incorrect and (iiz)
and (fv) are correct

(C) (1), (1), (iti) and (iv) are
correct

(D) (@) 1s correct and (i7), (i), (iv) are
incorrect
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FITRIOM= WAt SRS h10l shedl 2
“HEEErE wived, wedl, 9W 4

gftehi A= Sae & faske e

LT I 1 TeeR STHAH HHAITH

TRUTIhRehdl dTefauarel  JiasTahTel

MR IF HHA Tefauar=l gt !’
(A) Wfad w
(B) faoom <. =ifd

(C) fheea T, Wied

(D) wAlE a%d

TelTel Hehd el AR hed GRMer

I I Feer

(i) UREITehdT

(ii) SOEERY

(i) HTEETHA

(iv) TEERE

ﬂ@ﬁ—'ﬁﬁﬁ :

(A) (1), (i2) 3701 (47) T SR AT ST
(iv) & I %

(B) (i) 30T (ji) 5o Aed IO (if)
T (jv) & SREX 3R

(C) ), (i), (i) 3 (jv) § TR
3ed

(D) (i) T ISR 3T 30 (37), (iii), (iv)
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10. Select the correct code about the

10. hd-g! dTIET SHhald &l SRR

Jurisdiction of the Central Vigilance

G AfaR=T Iy faum feer

Commission.
(z) All employees of the Central (i) HEIMEA | HHAR
Government

(i) @R T e
(i1)) Employees in the Public

Undertaking (iii) = SIMTEAT=AT  ATETHIAI AT

(zii) Corporate bodies and other IR0l 9 a8 Tl

organisation within the

. o (a o
. L)
executive power of Central () TeTe HETTIAICTH

Government .
Heha-get :

(zv) Delhi Municipal Corporation

(A) (), (Gi) T (i) IR A8 3T (4v)
Codes :

T 38

(A) (@), (zx) and (zi7) are correct and

(év) is incorrect (B) (), Gi), (iii) T (iv) IR 3T=a
(B) (i), (ii), (iii) and (iv) are
(C) () 9 (i) I 3Rd 37T (Gi7) o

correct

(iv) I 3Ted

(C) (@) and (ii) are correct and (iii)
and (fv) are incorrect

(D) (i) 9 (i) Ik AR 3T () & (iv)

(D) (1) and (iii) are and incorrect,

ErELC |

() and (iv) are correct

9 [P.T.O.



11. When was the Administrative

12.

Reforms Commission, first time
suggested the adoption of the
Ombudsman type of institution in

India ?

(A) 1966

(B) 1961

(C) 1956

(D) 1977

Select from the following the
incorrect line agency in the

Government of India.

(A) Health

(B) Education

(C) Transport

(D) Cabinet Secretariate

MAY - 15216/I1—B

11. SEHAT YRRl Fen fasret srh

12.

RTRRE YUHd: I 9ell YRR g

HiHd el ?

(A) 1966

(B) 1961

(C) 1956

(D) 1977

WATAUh] AT e TR AT

(A) 3TRT

(B) Teremm

(C) TeuEadu

(D) "Hez gfua
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13. Match List I with List IT and select
the correct answer from the codes

given below :

List I
(@) UK
(b) USA
(c) China
(d) India

List II
(1) Fundamental Duties
(2) Evolved Constitution
(3) Fundamental Rights
(4) Rigid Constitution
Codes :

@ b)) (@ (@
@ 3 1 @ @
B) @ 3 @ @
© 2 @ @O 3

O @ @2 & @
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13. WAl Ie=n 9 e Iel 19 JKl

I A Seehi=a1 Sie Seodl S0

feeiean Hahareayd arg e feer .

(@) Ih

(b) FTET,

() =

(d) «d

et 1

it 11
(1) HBYd HdA

(2) Schid TSIEAT

(3) HoYd &Fh

(4) IS8T TF=SA

K3 K3
-
.

(a)
A) 3)
(B) 4)
©) @)

(D) )

®)
1)
3)
(4)

2)

) @
4) (2
2) @
1 3

3 @

11
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14. Which of the following statements

is incorrect ?

(A)

(B)

©)

(D)

David Easton put forth his
approach to the comparative
politics in his book ‘Political

System’

According to David Easton
demands are converted into

support

According to David Easton a
political system faces demand

stress and support stress

David Easton defined political
system in terms of ‘Authoritative

allocation of values’

MAY - 15216/I1—B

14. Wyt I@RT faum fizen :

(A)

(B)

(®)

(D)

2T FTed AT qAATHSE

TSTRTIUTT=AT  SASITHTHT §Teiehi

‘gifereiorat faew’ o1 qeaehta wisen

2dle S I Hd HRTIA YTfosand

FTUAOT el ST

[a) o

gdte 3

T T HA USTh 13 SHeEel

HATOIET SA1e o UTfSsAT= Sle IH]

die 3d oT9d

[a) (o

N
dis 3

T A U I
e AfueRRgeEd Jeard i’

I LA hell 3TE.
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15.

Which among the following pair is

not correctly matches ?

(A) UK. — Conservative &
Labour Party
(B) USA — Liberal &
Democratic Party
(C) France — Socialist &

Communist Party

(D) Switzerland — Radical and

Social Democratic

15.

MAY - 15216/I1—B

QeTeieh! IV SISl 3@ T8 ?

(A) TS — HeREe® d TR
oA e
(B) 3R — faea 9 SHlbIH
q&1
(C) W — ERffoe o Hfe
q&1

(D) TaEce — Hewa 9 9N

SHhelh T&
Party
16. TSI SV TS FHeRATG] Heselos
16. In which state of Canada separatist
i@ ey ?
movement is prevalent ?
(A) =t
(A) Ontario
(B) Quebec (B) =4
(C) Alberta (C) 3ot
(D) Nova Scotia (D) A& R
13 [P.T.O.
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17. Match List I with List IT and select | 17. w@reft fden gei=r amR F&4 &t
the correct answer from the codes STfor At I1 =1 A Sie Sesan 3oy
given below : fecied Hehdlehdegd Arg 9 farer :

List I et 1
(@) Narmada Bachao Andolan (@) e S=Ie e
(b) Indian Chamber of Commerce (b) e IR 3w HEd
(¢) Rasta Roko (c) TEN Akl
(d) Bureaucracy (d) -TRITmEr

List II et 11
(1) Institutional group (1) TEAHF T
(2) Associational group (2) TEHSATHS T
(3) Anomic group (3) #AfT=R T
(4) Promotional group (4) Gad® T
Codes : Hehdieh :

@ ) © @ @ ® @ @

A 3 O @ @ A 3 O @ @
B) @ & @ @ B) @ 3 @ @
© 2 @ @O @ ©) 2 @ @ ©
D @ @2 @ @ M) @4 2 @) @

14



18.

19.

20.

Which one of the following
statements is incorrect ?

(A) In USA every federating unit
gets equal representation in the
Senate

(B) In Switzerland judicial review

is totally absent

(C) In Canada in the province of
Quebec the

separatism prevails

problem of

(D)

In India the residuary powers
are with the centre

How many stages of economic growth
does Walt W. Rostow outline in his
book “Stages of Economic Growth :
A Non-Communist Manifesto”
[1960] ?

(A) 5
(B) 4
(C) 6
D) 7

Weak states generally share all the
following characteristics, except :

(A) Poverty

(B) A widespread
legitimacy

sense of

(C) Deep ethnic divides

(D) Lack of innovation

MAY - 15216/I1—B

18. WicliiUsh! 3@ a faum zen :

(A) TR T e Y ¥ TSaTel
W wfateta fHesd

(B) Facerciensd =Eme™iE qAfdaieh

ASTeTa STfEdera el

(C) HTST=A Fah Jidd Heraramare

EEE G
(D) YRa VYR Shgehe 3Ad

19. dfe Tsg. UL AN aAOea ‘w2

A ghMATS WY 2 3 TA-HFA
ARE"" (1960) 31 TEhId fawig sheiel
3Tffes foehmar fohdt <@ Wifitaer oTed 2

(A) 5
(B) 4
(C) 6
D) 7

20. FAHHRUU FHFRad Toai=l Jerd

O YT ST, W AT STIETS
M@

(A) <™

(B) =9 SAEMIGE! HEHl
(C) T wifts 9]

(D) fa=rguia=n A9

15

[P.T.O.



21. Who wrote the book “Aspects of

22.

Political Development” ?

(A) Gabriel Almond

(B) Samuel Huntington

(C) David Apter

(D) Lucian Pye

Which one of the following
constitutional amendments changed
the method of the election of the US
Senate from indirect to direct to

combat electoral corruption in 1913 ?

(A) 17th Constitutional

Amendment

(B) 13th Constitutional

Amendment

(C) 16th Constitutional

Amendment

(D) 18th Constitutional

Amendment

21.

22.

MAY - 15216/11—B
" STy AT Ulfreiehe
g v fafeet 2

SaaTHe’ ©

(A) TifasTd steds
(B) ¥H3Td gfeted

(C) edtg 3fex

(D) qET 9=

1913 el Setedn FHeed yse=meR

qra HI0ITETST AAfiwma fgae=ar

fIISU[RITSd HITTAT SATGEEA

gCAUT 3Tt ?

(A) 17et HeAGEE

(B) 13°f weAgEi

(C) 16at HeAGEE

(D) 18t ®eAGE

16



23.

24.

Who said, “The power to hurt is
nothing new in warfare, but modern
technology enhances the importance
of war and threats of war as
techniques of influence of bargaining

and intimidation” ?
(A) Bernard Brodie
(B) Michael Hoffmann
(C) Thomas Schelling

(D) Ashley Tellis

Who categorized ideologies into the
following, namely ideologies of the
Quo,

Imperialism and Ambiguous Ideo

Status Ideologies of

logies ?

(A) Stanley Hoffmann
(B) Hans J. Morganthau
(C) Kenneth Waltz

(D) Karl Marx

23.

24.

MAY - 15216/I1—B

UW@ Sl Sh ATl BFh SCIE :n%':'-;
Y MYHF THAIEN W FAE

o rEfauare T WA T Hew

e R § faum wume AR ?
(A) =AE st

(B) TH@rEd efm

(C) o it

(D) 3T <A™

(o)

EEEVRINIE]

IRy ¢ feerdrarer

TR, ATHSTaTG! foamqonet ST

Tfery foamyoelt 318 I ol ?

(A) ©Ta TR

(B) &9 S. At

(C) &Y afed

(D) T A

17
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25.

26.

27.

Which of the following is not the

correct statement about the

functioning of a political regime ?
(A) The organization of community
(B) The organization of consent
(C) The configuration of interests
(D) The organization of rights

Which three institutions were the
pillars of the Bretton Woods

System ?

(A) IMF, World Bank, GATT
(B) IMF, G-20, G-7

(C) IMF, World Bank, WTO
(D) WTO, GATT, G-7

Which one of the following is called

a “Mini Thermonuclear Bomb” ?
(A) Neutron Bombs

(B) Fission Bombs

(C) Fusion Bombs

(D) Hydrogen Bombs

25.

26.

27.

MAY - 15216/I1—B

qSTEe =1 ShrAiared  Slelieideh! ehivrd

faum @ o ?

(A) TS HEeA

(B) A=A HeeAd

(C) feaesiere q=e

(D) TR Go

S Y HI & TTel T IV
T FEAT= Seer@ Al a5 2

(A) AW AN, SHfaes seh,

o

L
(B) STAWISEE A0, Sft-20, -7
(C) STaWrsEra Amifael, Sfaes o,

SIHIGENCIRIE T

(D) SIFTfaer =AMMR GeeAl, e, -7

TATAd®T Hivear arren ‘A
oHfgEeieR. afa’ Ted S ?

(A) =2 =t

(B) frsH o

(C) WS 9

(D) BrEAGISH S

18



28. Match the pairs and select the

correct answer from the codes given

below :

(a)
(b)
(c)
d)

(1)
(2)
3)
4)

List I
(Treaty)
PTBT
NPT
ABM Treaty
CTBT
List II
(Year)
1972
1996
1963

1968

Codes :

Aa) M
(B) @)
©) ©3)

(D) 4)

@ B @© @

@2 @ 3

3 @

4 @O @

3 @ @

MAY - 15216/I1—B

28. @reft fooiean Hehd gET=l AT HEA

gt 1 enfor ot II = ara S
S[esdl ¢

(a)
(b)
()
(d)

(1)
(2)
3)
(4)

et 1
()
PTBT
NPT
ABM Treaty
CTBT
e 11
(ar)
1972
1996
1963

1968

K3 K3
-
.

A) 1)
(B) @)
©) 3

D) 4)

(@ b)) (© @

2 @ O

3 @

4 @O @

3 @ @
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29.

30.

The decision to elevate India’s

interaction with ASEAN from “Full

Dialogue” to “Summit Partners” was

taken at the ASEAN summit held

in :

(A) Phnompenh in 2002

(B) Hanoi in 2005

(C) Kuala Lumpur in 2007

(D) Singapore in 2009

Which one of the following military
operations was not conducted by

India ?

(A) Operation Rhino

(B) Operation Cactus

(C) Operation Thunderbolt

(D) Operation Polo

29.

30.

MAY - 15216/I1—B

IRAT ST sRed §aY ‘F<ehed’

“fere @S’ I SETavITHEl
frofar St erfaam fyrer afteed

Uder ?
(A) FMUT 2002 HEA
(B) B 2005 HEY

(C) FTATFX 2007 HEA

(D) fEmR 2009 wEA

EATeTUeh! ShIUA! TSRl hIaTE WA

el AT ?

(A) ATTIE /Il

(B) 3IW®E Hhahed

(C) ATRIM UeiEiee

(D) ATT®E grelt
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31. Which thinker opposed the claim to | 31. H10Tedl fa=madH @g=an =™
Papal supremacy ? oy ey ?
(A) Giles of Rome (A) Sem fF
(B) John of Salisbur .o
Y (B) S 3t Hferat
(C) Thomas Aquinas
(C) 9|y EEETH
(D) Marsiglio of Padua
(D) wfsfer sffe qrgen
32. Which behaviourist tenet was
32. AR TR TR ShIvld
completely rejected by the advocates
T QU ARRA 2
of post-behaviourism ?
A) SRS gfewH
(A) Interdisciplinary approach W
(B) Theory-building (B) fogr-ffHd
(C) Value-neutrality (C) HIAqZTH
(D) Empirical research (D) IHEEHE E IR
21 [P.T.O.



33.

34.

35.

What is the central theme of
Kautilya’s ‘Arthashastra’ ?

(A) Finance
(B) Ethics
(C) Statescraft

(D) Diplomacy

Which_ of the followmg pairs is
correctly matched ?

(A) John — Libertarianism
Rawls

(B) Robert — Communitarianism
Nozick

(C) Charles — Justice as Fairness
Taylor

(D) Michael — Complex equality

Walzer
Which of the following statements

are correct ?
(@) Savarkar advocated Hindutva
(b) Savarkar was a nationalist

(¢) Savarkar endorsed

utilitarianism
(d) Savarkar supported theocracy
Codes :
(A) (@), (b) and (c)
(B) (@), (b) and (d)
(C) (c), (b) and (d)
(D) (a), (c) and (d)

33.

34.

35.

MAY - 15216/II—B
Sifeet  stefemet’ =1 vt Y@ faw
v ?
(A) foeaeen
(B) ifew=n
(C) TS
(D) TS

[a) ha N haN

[l Tq el \ﬂlS?JICIIQ’i IO Se! SRIeR

dAEeel 3 ?

(A) S TeH

— WBAHER
(B) e feh — THIEES

(C) =med TR
(D) A¥%d dicsk — SAMHS THaT

Tt oot faumida o faum
TSR 3ARA 2

(@) WERH @M R Sl

— RIAREEd =™

(b) TEHT TOZART B

(c) WY ITIHIAERHE o BId

(d) TERHUAT HHERTR TSa9Gad aifesn

feem
he

(A) (@), (b) 3T (¢)
B) (a), (b) 3 (d)
(C) (c), (b) = (d)

D) (a), (c) 3 (d)

22



36. Select the correct answer by using

the codes given below :

(1) Antonio — The role of

Gramsci intellectuals in
society
(2) Mao — To rapidly trans-
Zedong form the country
from an agrarian
economy into a
socialist society.
3) V.I — Imperialism is not
Lenin highest stage of
capitalism
Codes :

(A) (1) and (3) are correct

(B) (2) and (3) are correct

(C) (1) and (2) are incorrect

(D) (1) and (2) are correct

MAY - 15216/I1—B

[V SN

36. @dll faciedl el 9 & I I

frerer

(1) eTdist It —  |ASA
[EELERIE
Y

TITgen 37—
I AN
HHSERT

TSI IRacH
HL0

(2) HW-I-8M —

RBICISEEI
ST =
faswTETata
S <o e

(8) .M. W —

wHe

(A) (1) 31foT (3) SRR 3T
(B) (2) M1 (3) SR 3Mq
(C) (1) smfor (2) g s

(D) (1) o1 (2) ST 27—
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37.

38.

Which one of the following pairs is

incorrectly matched ?

(A) Hegel — Phenomenology
of Spirit
(B) Jeremy — A Fragment on
Bentham Government

(C) T.H. Green— Philosphy of

Rights

(D) J.S. Mill Consideration

on Repre-
sentative

Government

What are the sources of Karl Marx’s

theory ?
(A) German Philosophy, British

Political Economy and French

Socialism

(B) German Socialism, British
Philosophy and French Political

Economy

(C) German Political Economy,

British Socialism and French
Philosophy

(D) German Socialism and French

Political Economy

37.

38.

MAY - 15216/II—B
TTATAdeh! HIOTT ST STHATITHR

S[Bavad S Mg ?

(A) A — AT S
feafe

(B) SR d¥fA — & HA=
TegHie

(C) JAwa. UH — frards A%
Ty

(D) S.ud. fod — wfwewEm
s feeg M=

o Ared=ar fagrae Eid S

ed ?

(A) A Taa, fofesr Teenta stedsro
0T e gHISER

(B) STHA THSETE, fofes awomm s
Ha TSl AARI

(C) wIH9 TSt Aefwror, fafes
THNEE A0 B dxe

(D) HA GHER ST B Sl
AR
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39.

Which one of the following pairs is

incorrectly matched ?

(A) Jeremy — Utilitarianism
Bentham
(B) John Locke —Hedonism

(C) Jean Jacques—Social

Rousseau Contract

(D) Antonio- —Hegemony

MAY - 15216/I1—B

39. WATeTueh! IO el 3TEFT Jasaait

e ?
(A) SRt g — gfefaedrettremy
(B) S dleh R CEI

(C) S Sl &G — ISR iR

(D) STRIAS-TTE — gl

Gramsci
40. i Tusclier=n qegadl fas™ sivma
40. What is the central theme of Plato’s
AR ?
Republic ?
(A) =3I
(A) Justice
B) fyremom=i =awen
(B) Scheme of education (B)
(C) Idea of communism (C) STERIEFHT S
(D) Philosopher king (D) r s
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41. Given below are two statements, one

labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : Any Individual
affected due to
violation of any of
the  Directive

Principles of State

Policy cannot

move the court.

Reason (R) : The Directive
Principles are not

justifiable.

In the context of the above two
statements which one of the

following is correct.
Codes :

(A) Both (A) and (R) are true but
(R) is the

explanation of (A)

not correct

(B) (A) is true but (R) is false

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

MAY - 15216/I1—B

et gF faum foeft omed. & faum

(A) W TN R R (R) :

faam (A) : AFCE® T S
SR W@ SHfeRTedl S

ATAT dY | =gl

YT dTd SIS Mehd

EIRE
U7 (R) : AFCIs dcd —=amavfase

HdTrd.

e g faumren Sewia @l oo
AR I I WL

et
(A) (A) g (R) &I sRIeR 3Ted 1 (R)
T (A) T I TR0 ATE

(B) (A) T SR 3¢ I (R) T IH
3

(C) (A) & I% 3R 97 (R) ¥ s
3T

(D) (A) T (R) <&l sIe 3ed 901 (R)
T (A) T TIH TR IR
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42. el F faum fooit emea @it T

42. Given below are two statements, one

labelled as Assertion (A) and the
other labelled as Reason (R) :

faum (A) ® T RO (R) § 3R :

Assertion (A) : There has been a faam (A) : Fs-TF Ferurn FAf=R
growing demand HET SET AN HETOR
for review of R
centre-state
relationship. &RUT (R) : fashmard gshey d-

Reason (R) : The states have
no adequate
resources to take
up development

projects.

In the context of the above two
statements, which one of the

following is correct.
Codes :

(A) (A) is true but (R) is false

(B) (A) is false but (R) is true

(C) Both (A) (R)

individually true and (R) is the

and are

correct explanation of (A)

(D) Both (A) (R)

individually true but (R) is not

and are

the correct explanation of (A)

fomarrdt ek TeThe
qft e R
T S o weuid @rcierishl
I I ABE
Hehdiah :
(A) (A) & S{sR 318 901 (R) & 9
S

B) (A) g I AR 97 (R) ¥ SN
3

[a) e}

(C) (A) 9 (R) Tl SR 2q1Rd 21fur

(R) T (A) ¥ T TIRHI 3T

[a) ha¥

(D) (A) 9 (R) Tt sIsR 3A1"d 997 (R)

T (A) T EH TIRHRI AR
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43.

44.

What is the nature of peasant
movement in India ?

(A) Anti-Governmental
cultural policy

(B) Anti-Government
(C) Anti-Public Policy
(D) Anti-NGO

Match List I (Leaders) with List II
(Movements) and select the correct
answer from the codes given
below :

agri-

List I
(Leaders)
(@) E.V. Ramaswamy
®)
(c)

d)

Charu Mazumdar

S.A. Dange

Godavari Parulekar

List II

(Movements)

Armed Revolution

Working Class

Self-Respect Movement

(1)
2)
(3)
(4)
Codes :
(a)
(A) 4)
B) 2)
C) )
D) (D)

Tribal Movement

(b)
(1)
3)
(1)
3)

(c)
(2)
(1)
(2)
(4)

(d)
3)
4)
4)
2)

43.

44.

MAY - 15216/I1—B

URATdT Ikl d@ded WEY Y

A ?

(A) T TR IAfaoaeh o=

forieft o1
(B) @ W&R fadeh-a1me
(C) o wEwe ¥Rvmen forieh e
(D) o wEget georen faddt o

IR 1 (Ag) ¥ At I (Fesae) o
Sozell S Wit feeie Hehdiehiq 4
I e

et 1
(T
3.3 EE
(b) W& IR
(c) THT S
(d) el THesehl
et 11
(T5T®)
YA I
HIER 7
(3) TfYHM <esdes
(4) STfcaTEt Fe3aes
Hehdieh :
(a)
(A) 4)
(B) (2)
C) 3)
D) (1)

(@)

(1)
(2)

(b)
o))
3)
1)
3)

()
2)
(D
2)
4)

(d)
3)
(4)
(4)
(2)

28



45.

46.

Which one of the following Article
of the Constitution authorizes the
President of India to suspend the
Fundamental Rights ?

(A) Article 359
(B) Article 365
(C) Article 372
(D) Article 370

One of the following statements
related to Government of India Act,

1919 is incorrect ?

(A) The subjects of administration

were divided into two

categories—central and

provincial

(B)

The Indian legislative was

made more representatives

(C) The Courts had the authority
to decide whether a particular

subject was central or provincial

(D) There was no provision for
collective responsibility of the
ministers to the provincial

legislative

45.

46.

MAY - 15216/I1—B

@A TUeh! hIUHT SEACHE  hoTH

YRATAT TS A B
HA A ?

(A) hcTH 359
(B) scTH 365

(C) <hetH 372

(D) ™ 370

1919 AT HECITAT HeHid Erelicieh]

T faum g% og, d faum sfesen .

(A) W fawa ss enfor gifae
3@ faared 8

(B) ¥R FEcHSR © 3ifues wifd-
faefter el T

(C) TEmen fao™ e 3 i yiaren
g Sfauamn SIfueR =T
|l

(D) Wifdeh Udcier AFHEE hEcHS

A fehg el FaragR 3 d<d

fEeeTd Tead
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47.

48.

In which of the following House/
Houses are the seats not reserved

for SC/ST ?

(1) The Lok Sabha

(2) The Rajya Sabha

(3) The Vidhan Parishad

Select the correct answer from the

codes given below :
Codes :

(A) Only (2)

(B) Only (3)

(C) (2) and (3)

D) (1) and (3)

Who is the first CEO of NITI

Aayog ?

(A) Arvind Pangariya

(B) Thawar Chand Gehlot
(C) V.K. Saraswat

(D) Sindhushree Khullar

47.

48.

MAY - 15216/I1—B

T Tadehl IV HYTRIA STIfad-
STt o SIS ShIvergl T@iid ST
AR ?

(1) ErRge

(2) TSFEH

(38) faum 4ftug

TTeld HZal IO HEed dqd 3T

e
He
(A) &de (2)
(B) wHdx (3)
(C) (2) T (3)
D) (1) = 3)

et ST ufget Y& iRt STfeeRi
U e ?

(A) o g
(B) ¥R =g gad

(C) T TEd

(D) Tagsh Feer
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49.

50.

Which of these did the 74th
Amendment to the Constitution of
India, try to inject into the working
of urban and local bodies ?

(1) Bringing about uniformity in

the structure of local
governments throughout the
country

(2)

Ensuring regular and rational
flow of funds from the state’s

revenue

(3) Having property elected
governments at regular
intervals

(4)

Having single unified authority
for the city’s management and
development

Which of the following is/are correct ?
Codes :

(A) (1) and (2)

(B) (1), (2) and (4)

(C) (2), (3) and (4)

D) (1), (2) and (3)

The Supreme Court of India declares
by issuing a writ that the
respondent was not entitled to an
office he was holding or a privilege
he was exercising. Which writ is
that ?

(A) Habeas Corpus
(B) Prohibition
(C) Quo-Warranto
(D) Certiorari

49.

50.

MAY - 15216/I1—B

743 FSAIGERAGR It & UTHIOT AT
TTfeh ST TR iU gRada
sTuferd e ?

(1) GYoi TR TR TR LT
TR a1 fator s
Tt fasidqa fafaaoo =
foasigor a1 gegrr fAsh SueTsy
S

HIEHHGA LRI FTOT 0]
e LTS & faehraard]
Tehd Ty 3fergsn fmfor &30

(2)

3)

(4)

ered =l R FwEd 7 3IW

e
<he ¢

[N

(A) (1) 3mfur (2)
(B) (1), (2) 371 (4)
(C) (2), (3) = (4)

D) (1), (2) o (3)

TERT AR @ S WEER R T US
IAYRTOITE ATk el, Taed d&® W™
FHIUE faRTEfEeR U arreh
TR 318 Gared AT Shivel STRRMER
fet & TR

(A) sET geAfaIshI

(B) 9fque

(C) ATIRRg=sT
(D) 3T
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ROUGH WORK
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